3.1 DistributiveEquations.notebook November 12, 2019

Warm Up:Name the property that each equation illustrates.

Commutative  Associative Distributive
a) -3.-% =1 d) 3(8+0)=(3+8)0
Associative

Inverse

b) (-3+4)+5=-3+(4+)5) € p+q=q+p

. Commutative

Associative

C) 2+0=2 f) np = pn

Identity

Commutative
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E{eview of the Distributive Propera f/
Fill in the prompts below with a partner or small group: ﬁ
The distributive property means I will have to...
multiply each Jerm
nS\de By U #

ot fRort

I can recognize the distributive property

is needed because I will see...

O. number sut

Lront 6\)

i

7’/\& When you see distributive property, do it firsti!! ﬁ

%EMEMBEE: distributz the sign of the numbﬁ outside 2§ parenthﬁes, too%
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e

\_ J —-x(x+4)

F%%@\ -X(%) -X @)
' @/
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1) Yessenia simplified an expression as shown below:

/‘\
[ il | Given: (x+ﬁ+3{x+4} )
Step 1: ¥+ 9(x + 4)
[@@ m Step 2: X+ 9x + 36

Step 3: 10x + 36

30+ 3(4)

In which step did Yessenia make a mistake? What should she haﬂ‘u?ﬁs\tead?

She didnt distribule. X+ (p +3(x+4)

first. @'_ 0
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2) Sierra simplified an expression as shown below:

November 12, 2019

Given:

X+8+5(x—-4) ”ﬂr

Step 1:

¥+8+5x-20

Step 2:

just do it.

S5x+8-20

Step 3:

P
sx-12 <

In which step did Sierra make a mistake?

Sha did} add
CorReo b@

Sx) 564)

What should she ha instead?

X3+ S (x-4)
R -20

ox-) )
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3) Jose simplified an expression as shown below:

‘ EVEN THE HAED{SF Given: x+3+7(x-5)
PUZLLES HAVE

h sotumon® Step 1: X+3+7%x-5
Step 2: 8x+3-5
Step 3: 8x—2

In which step did Jose make a mistake? What should he have done instead?
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Warm Up
Take 5 minutes to complete the sprint you collected from the back
Turn it in

Open your packet to the page for writing corrections on the sprint

v
T /
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—-— R
< Name:
o p—{ . . . .
o Distributive Property Sprint
v Directions: INDEPENTENTLY simplify each expression completely below. Write your answeronthe line
Qa provided.
% 1. 5(x+3)
=
O
M 2. —4(x+2)
3. x(3-»
4., —z(4+2)

5. —7(-a—3)
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